EARAROBEEIERT — 2 N— IBISH —F

2019568188 (k) 4EIKR6H

PR X 71 2 MERI S R—HROP [xwl 8 | 1mEmml - |5 5) sonmE
[AE4£] 1% :850,000 ™ ~ 23%&:221,000H ~ 3#&:119,000 @ 4 7&:85,000 3 . 53 :42,000
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TILEE—4 # 6 | B 429_33 -1 |30 — | 3 | 52 géé% (KR
R:HYIRT1 5 BTFAVAELT (49) AR
LR . = . = RIEZHAI (KR)
THILX 4 6 s 5(05)3 2-2 35.6 2 (5+145) oL
R:77ZRYIT BANIYILKR YIREL Ty — L
w5 5 i 5 | BRERE 50.3 3-3 353 — 1 472 | AR GKR)
JZZ 55.0 (2E) (+p) | EEENLE
SEILTIVRR B T—N—b M &E
N . BN — — 2E— (KR
AT —NF o 54.0 5?2')6 o %2 o <4+112) TEBA
R:TYIYXLTR BN bFTIY—> #H B=
W e e ISV . - . — ZHEE (KR
I TT—Va w s | B o8 | o [me] — | o [ e [omea
RixvyUgdyk BiYv—5J-—> ARET2—T7—L
= 0 KIFIE . — . — TRERZ (BRRE
6l5l5|FL57 - 4 8 ps 5(14)5 7-6 35.5 7 (f?) =N
R:h>iNZ— B:FLINIL #4535
N 5K — - FEE= (BRE
ARIR R E R A R A= o7 Em Ky M ) 5_3’24) mH
LihrexU BiFaHLI-—Tes =l &
® I —F—EBIERL
13—7+—
230—7F—
Jol=5r= 3,4,7,6,2,1,5
40—+ — 3,4,7,6,2,5,1
[ N3
BB 3 850M 714K 3-4 220M B = 3-4 1,140 3EHE 3-4-7 430M
8 B 3 270M &= 210M B H 3-4 2,900M K31 3-4-7 6,200
4 140M 4-7 120M

ABICOVWTRDTEEERROODE. TR LIV,




